TH2E1 28 E)EeErs SBER

1 & # 16HM ( 12A3B »b 12H18H )
2 B B
A H B BsHE f& %
Lo 3 K | A & B\ B 9:30 FRUE - EESHEGNH - B0
4 & |£& R B AR  HEBBE (RROIED)
5.6 |t- R =
7 H | & & # | 2HEB 9:30 HE- {5
8 X | & B & 9:30 HHEZEES (1)
9 X | & A & 9:30 HHEZEES (2)
10 N K =
11 & | A & #|3HE 9:30 —EM (1)
12-13|+£- IS
14 A | & & #&|48BE 930 —REM (2)
15 X | A &= # | 5HE 9:30 —ERM (3)
16 X | & B &£ 9:30 #HERES (3)
9:30 BIEHZRER
LR - BIfLV— MBRIIRES
17 X |Z B & k) | e EB AR IEE S
Hil = X = =7 1 TR R R RS
BLBRIERES
18 & | A & B R&B 9:30 ZERHE R - BBk




